
ACCESSORIES

+088 - 499 111
+088 - 499 333

www.bpaluminium.com No. 15 & 16, Jalan 1C KKIP Selatan,
Industrial Zone 2 (IZ2), KKIP 88460
Kota Kinabalu, Sabah, Malaysia

BP ALUMINIUM

BP ALUMINIUM
EXTRUSION SDN BHD

b_p_a_e@yahoo.com

https://www.google.com/maps/place/BP+Aluminium+Extrusion+Sdn.+Bhd./@6.0884891,116.1659698,17z/data=!3m1!4b1!4m6!3m5!1s0x323b131400131089:0x524fde3758e59138!8m2!3d6.0884891!4d116.1685447!16s%2Fg%2F11byl8jkd4?entry=ttu
https://www.google.com/maps/place/BP+Aluminium+Extrusion+Sdn.+Bhd./@6.0884891,116.1659698,17z/data=!3m1!4b1!4m6!3m5!1s0x323b131400131089:0x524fde3758e59138!8m2!3d6.0884891!4d116.1685447!16s%2Fg%2F11byl8jkd4?entry=ttu
https://www.google.com/maps/place/BP+Aluminium+Extrusion+Sdn.+Bhd./@6.0884891,116.1659698,17z/data=!3m1!4b1!4m6!3m5!1s0x323b131400131089:0x524fde3758e59138!8m2!3d6.0884891!4d116.1685447!16s%2Fg%2F11byl8jkd4?entry=ttu


CONTENT                                                                     PAGE

MSL -M SLIDING WINDOW SERIES                              1-2
                      
MSL -M SLIDING DOOR SERIES                                    3-4
                      
MCW-M CASEMENT WINDOW SERIES                       5-6
                      
BPFD-FOLDING DOOR SERIES                                     7-8
                      
SHD-SLIM HANGING DOOR SERIES                          9-10
                      
SWD- SWING DOOR SERIES                                           11
                      
FUW-FOLD UP WINDOW                                              12-13
                      
LE- LOW-END SERIES                                                   14-18
                      
T - SLOT                                                                            19-20
                      GASKET                                                                             21-22
                      



ACCESSORIES MSL 308 RM 1.10S/S CORNER BRACKET (INNER)

ACCESSORIES MSL 309 RM 1.10PVC COVER

ACCESSORIES MSL 312 SLIDING WINDOW ROLLER (SINGLE ROLLER)

ACCESSORIES MSL 317 MSL L-SHAPED STOPPER

RM 8.35

RM 8.50

ACCESSORIES MSL 306

ACCESSORIES MSL 307

PVC SIDE SKID - THIN

PVC ANTI CRASH

RM 0.60

RM 1.10

Item Code Description Price (RM)

ACCESSORIES MSL 302 RM 2.1539MM CORNER BRACKET

ACCESSORIES MSL 303 RM 2.1526.8MM CORNER BRACKET

ACCESSORIES MSL 304 WINDOW FASTENER (BLACK)

ACCESSORIES MSL 315 WINDOW FASTENER (WHITE)

RM 4.70

RM 4.70

ACCESSORIES MSL 306
PVC SIDE SKID - THIN

ACCESSORIES MSL 307
PVC ANTI CRASH

ACCESSORIES MSL 308
S/S CORNER BRACKET (INNER)

ACCESSORIES MSL 309
PVC COVER

ACCESSORIES MSL 312
SLIDING WINDOW ROLLER

(SINGLE ROLLER)

ACCESSORIES MSL 317
MSL L-SHAPED STOPPER

BP Aluminium Extrusion Sdn. Bhd.
MSL -M SLIDING WINDOW SERIES

ACCESSORIES MSL 302
39mm CORNER BRACKET

ACCESSORIES MSL 303
26.8mm CORNER BRACKET

ACCESSORIES MSL 304
WINDOW FASTENER

1



BP Aluminium Extrusion Sdn. Bhd.
MSL -M SLIDING WINDOW SERIES

M SLIDNG WINDOW 
Section A

Section B

2



ACCESSORIES MSL 301

Item Code

ACCESSORIES MSL 303

ACCESSORIES MSL 316

ACCESSORIES MSL 309

ACCESSORIES MSL 307

ACCESSORIES MSL 313

ACCESSORIES MSL 302

ACCESSORIES MSL 300

ACCESSORIES MSL 306

ACCESSORIES MSL 311

ACCESSORIES MSL 305

ACCESSORIES MSL 310

ACCESSORIES MSL 308

ACCESSORIES MSL 317

J7 KEYLESS LOCKSET (BLACK)

26.8MM CORNER BRACKET

J8 LOCKSET W/KEY (WHITE)

PVC COVER

PVC ANTI CRASH

CATCHES

39MM CORNER BRACKET

J8 LOCKSET W/KEY (BLACK)

Description

PVC SIDE SKID - THIN

SLIDING DOOR ROLLER (DOUBLE ROLLER)

1500MM LOCKING BAR

SLIDING DOOR ROLLER (4 ROLLER)

S/S CORNER BRACKET (INNER)

MSL L-SHAPED STOPPER

RM 38.00

Price (RM)

RM 2.15

RM 46.20

RM 1.10

RM 1.10

RM 0.70

RM 2.15

RM 46.20

RM 0.60

RM 16.25

RM 39.15

RM 46.20

RM 1.10

RM 8.50

ACCESSORIES MSL 306
PVC SIDE SKID - THIN

ACCESSORIES MSL 307
PVC ANTI CRASH

ACCESSORIES MSL 308
S/S CORNER BRACKET (INNER)

ACCESSORIES MSL 303
26.8MM CORNER BRACKET

ACCESSORIES MSL 309
PVC COVER

ACCESSORIES MSL 311
SLIDING DOOR ROLLER

(DOUBLE ROLLER)

ACCESSORIES MSL 310
SLIDING DOOR ROLLER

(4 ROLLER)

ACCESSORIES MSL 317
MSL L-SHAPED STOPPER

ACCESSORIES MSL 313
CATCHES

ACCESSORIES MSL 305
1500MM LOCKING BAR

BP Aluminium Extrusion Sdn. Bhd.
MSL -M SLIDING DOOR SERIES

ACCESSORIES MSL 300
J8 LOCKSET W/KEY

ACCESSORIES MSL 301
J7 KEYLESS LOCKSET

ACCESSORIES MSL 302
39MM CORNER BRACKET

3



BP Aluminium Extrusion Sdn. Bhd.
,MSL -M SLIDING DOOR SERIES

M SLIDNG DOOR 

Section B

Section A

4



ACCESSORIES MCW 202

Item Code

ACCESSORIES MCW 204

ACCESSORIES MCW 201

ACCESSORIES MCW 209

ACCESSORIES MCW 207

ACCESSORIES MCW 203

ACCESSORIES MCW 200

ACCESSORIES MCW 206

ACCESSORIES MCW 214

ACCESSORIES MCW 216

ACCESSORIES MCW 205

ACCESSORIES MCW 213

ACCESSORIES MCW 215

ACCESSORIES MCW 208

CW 2991 HINGE (BLACK)

900MM LOCKING BAR

6901 MULTI POINT HANDLE (BLACK)

CW 2991 HINGE (WHITE)

6902 MULTI POINT HANDLE (WHITE)

300MM LOCKING BAR

6902 MULTI POINT HANDLE (BLACK)

Description

KEEPER

Y-SHAPED MULTI POINT HANDLE (BLACK) - RIGHT

Y-SHAPED MULTI POINT HANDLE (WHITE) - RIGHT

30.5MM CORNER BRACKET

Y-SHAPED MULTI POINT HANDLE (BLACK) - LEFT

Y-SHAPED MULTI POINT HANDLE (WHITE) - LEFT

6901 MULTI POINT HANDLE (WHITE)

RM 7.30

Price (RM)

RM 13.10

RM 9.20

RM 7.30

RM 19.70

RM 8.60

RM 19.70

RM 0.60

RM 16.00

RM 16.00

RM 2.15

RM 16.00

RM 16.00

RM 9.20

5

ACCESSORIES MCW 204
900MM LOCKING BAR

ACCESSORIES MCW 205
30.5MM CORNER BRACKET

ACCESSORIES MCW 206
KEEPER

ACCESSORIES MCW 203
300MM LOCKING BAR

ACCESSORIES MCW 214
Y-SHAPED MULTI POINT

HANDLE

ACCESSORIES MCW 200
6902 MULTI POINT HANDLE 

ACCESSORIES MCW 201
6901 MULTI POINT HANDLE 

ACCESSORIES MCW 202
CW 2991 HINGE

BP Aluminium Extrusion Sdn. Bhd.
MCW-M CASEMENT WINDOW SERIES



M Casement Window Section A

Section B

BP Aluminium Extrusion Sdn. Bhd.
MCW-M CASEMENT WINDOW SERIES

6



ACCESSORIES BPFD 102

Item Code

ACCESSORIES BPFD 104

ACCESSORIES BPFD 101

ACCESSORIES BPFD 109

ACCESSORIES BPFD 107

ACCESSORIES BPFD 103

ACCESSORIES BPFD 100

ACCESSORIES BPFD 106

ACCESSORIES BPFD 111

ACCESSORIES BPFD 105

ACCESSORIES BPFD 110

ACCESSORIES BPFD 108

FD U 25MM CORNER BRACKET

FD 59 BOTTOM ROLLER (3+0)

FD 59 BOTTOM ROLLER (2+0)

FD PVC SKID

FD 6701 HANDLE (BLACK)

FD 59 TOP ROLLER (3+0)

FD 59 TOP ROLLER (2+0)

Description

FD 59 HINGE (BLACK) 

FD 59 HINGE (WHITE)

FD 59 FLUSH BOLT / PC

FD 40MM CORNER BRACKET

FD 5019 HANDLE W/LOCKSET (BLACK)

RM 2.50

Price (RM)

RM 93.00

RM 85.00

RM 0.80

RM 28.00

RM 202.00

RM 168.00

RM 18.80

RM 18.80

RM 13.60

RM 3.00

RM 190.00

ACCESSORIES BPFD 112 FD 5019 HANDLE W/LOCKSET (WHITE) RM 234.00

ACCESSORIES BPFD 113 FD 6701 HANDLE (WHITE) RM 28.00

ACCESSORIES BPFD 106
FD 59 HINGE

ACCESSORIES BPFD 100
FD 59 TOP ROLLER (2+0) 

ACCESSORIES BPFD 101
FD 59 BOTTOM ROLLER (2+0) 

ACCESSORIES BPFD 102
FD U 25MM CORNER

BRACKET

BP Aluminium Extrusion Sdn. Bhd.
BPFD-FOLDING DOOR SERIES

ACCESSORIES BPFD 103
FD 59 TOP ROLLER (3+0)

ACCESSORIES BPFD 104
FD 59 BOTTOM ROLLER (3+0)

ACCESSORIES BPFD 105
FD 59 FLUSH BOLT /PC

ACCESSORIES BPFD 107
FD 6701 HANDLE

ACCESSORIES BPFD 108
FD 5019 HANDLE W/LOCKSET

ACCESSORIES BPFD 109
FD PVC SKID

ACCESSORIES BPFD 110
FD 40MM CORNER BRACKET

7



FOLDING DOOR Section A

Section B

BP Aluminium Extrusion Sdn. Bhd.
BPFD-FOLDING DOOR SERIES

8



ACCESSORIES SHD 003

Item Code

ACCESSORIES SHD 005

ACCESSORIES SHD 002

ACCESSORIES SHD 010

ACCESSORIES SHD 008

ACCESSORIES SHD 004

ACCESSORIES SHD 001

ACCESSORIES SHD 007

ACCESSORIES SHD 006

ACCESSORIES SHD 011

ACCESSORIES SHD 009

SHD SLIM EDGE S/CLOSE SD ROLLER (3+1)/(3+0)@SET

SHD SLIM EDGE SD HANDLE W/O LOCK (BLACK) 14.5MM

SHD SLIM EDGE S/CLOSE SD ROLLER (2+1)/(2+0)@SET

SHD SLIM EDGE S/CLOSE SD ROLLER (2+2)@SET

SHD SLIM EDGE DOOR HANDLE W/KEY

SHD SLIM EDGE SD HANDLE W/LOCK (BLACK) 14.5MM

SHD SLIM EDGE S/CLOSE SD ROLLER (1+1)/(1+0)@SET

Description

SHD SWING DOOR OUTER BRACKET

SHD SLIM EDGE DOOR INNER CORNER BRACKET

SHD SLIM EDGE DOOR BOTTOM ROLLER

SHD SWING DOOR TOP & BOTTOM HINGE 

RM 900.00

Price (RM)

RM 40.00

RM 550.00

RM 750.00

RM 170.00

RM 45.00

RM 200.00

RM 10.00

RM 5.00

RM 150.00

RM 45.00

ACCESSORIES SHD 009
SHD SWING DOOR TOP &

BOTTOM HINGE 

ACCESSORIES SHD 010
SHD SLIM EDGE S/CLOSE SD

ROLLER (2+2)@SET 

ACCESSORIES SHD 011
SHD SLIM EDGE DOOR

BOTTOM ROLLER

ACCESSORIES SHD 001
SHD SLIM EDGE S/CLOSE

SD ROLLER (1+1)/(1+0)@SET

ACCESSORIES SHD 002
SHD SLIM EDGE S/CLOSE SD

ROLLER (2+1)/(2+0)@SET 

ACCESSORIES SHD 003
SHD SLIM EDGE S/CLOSE

SD ROLLER (3+1)/(3+0)@SET

BP Aluminium Extrusion Sdn. Bhd.
SHD-SLIM HANGING DOOR SERIES

ACCESSORIES SHD 004
SHD SLIM EDGE SD HANDLE

W/LOCK (BLACK) 14.5MM

ACCESSORIES SHD 005
SHD SLIM EDGE SD HANDLE
W/O LOCK (BLACK) 14.5MM 

ACCESSORIES SHD 006
SHD SLIM EDGE DOOR INNER

CORNER BRACKET 

ACCESSORIES SHD 007
SHD SWING DOOR OUTER

BRACKET

ACCESSORIES SHD 008
SHD SLIM EDGE DOOR

HANDLE W/KEY

9



SLIM HANDING DOOR Section A

Section B

BP Aluminium Extrusion Sdn. Bhd.
SHD-SLIM HANGING DOOR SERIES

10



Item Code

ACCESSORIES SWD 401

ACCESSORIES SWD 400

8535 LEVER MOETISE HANDLE SET (SWING DOOR) - WHITE

8535 LEVER MOETISE HANDLE SET (SWING DOOR) - BLACK

Description Price (RM)

RM 88.00

RM 88.00

8535 LEVER MOETISE HANDLE
SET (SWING DOOR) - BLACK

8535 LEVER MOETISE HANDLE SET
(SWING DOOR) - BLACK

8535 LEVER MOETISE HANDLE
SET (SWING DOOR) - WHITE

8535 LEVER MOETISE HANDLE SET
(SWING DOOR) - WHITE

BP Aluminium Extrusion Sdn. Bhd.
SWD- SWING DOOR SERIES

Section B

Section A

SWING DOOR

11



Item Code Description Price (RM)

ACCESSORIES FUW 600 S/S COLLAPSIBLE WINDOW HANDLE (BLACK) RM 16.00

ACCESSORIES FUW 601 FW D-HINGE WITH HANDLE (BLACK) RM 14.00

ACCESSORIES FUW 602 FW HINGE (BLACK) RM 8.00

ACCESSORIES FUW 603 FW BALANCE SPRING RM 64.30

ACCESSORIES FUW 604 FW CORNER BRACKET 1 RM 2.50

ACCESSORIES FUW 605 FW CORNER BRACKET 2 RM 2.50

ACCESSORIES FUW 606 FW S/S CORNER BRACKET RM 1.10

ACCESSORIES FUW 607 FW S/S FLUSH BOLT RM 5.50

ACCESSORIES FUW 608 FW S/S LOCK CASE (SILVER) RM 15.50

ACCESSORIES FUW 609 600MM LOCK CASE MULTI POINT FLAT BAR (SILVER) / PAIR RM 13.00

ACCESSORIES FUW 610 800MM LOCK CASE MULTI POINT FLAT BAR (SILVER) / PAIR RM 15.00

ACCESSORIES FUW 601
FW D-HINGE WITH HANDLE

(BLACK)

ACCESSORIES FUW 602
 FW HINGE (BLACK)

ACCESSORIES FUW 603
FW BALANCE SPRING

BP Aluminium Extrusion Sdn. Bhd.
FUW-FOLD UP WINDOW 

ACCESSORIES FUW 600
S/S COLLAPSIBLE WINDOW

HANDLE

ACCESSORIES FUW 604
FW CORNER BRACKET 1

ACCESSORIES FUW 605
FW CORNER BRACKET 2

ACCESSORIES FUW 606 
FW S/S CORNER BRACKET

ACCESSORIES FUW 607
FW S/S FLUSH BOLT

ACCESSORIES FUW 608
FW S/S LOCK CASE (SILVER)

ACCESSORIES FUW 609
600MM LOCK CASE MULTI POINT FLAT BAR (SILVER)

ACCESSORIES FUW 610
800MM LOCK CASE MULTI POINT FLAT BAR (SILVER)

12



BP Aluminium Extrusion Sdn. Bhd.
FUW-FOLD UP WINDOW

13



ACCESSORIES LE 500
011 BUFFER 3/8 GREY

ACCESSORIES LE 501
012 LOW SKID 1 1/2 WHITE 

ACCESSORIES LE 502
001 SD ROLLER (SINGLE)

BP Aluminium Extrusion Sdn. Bhd.

ACCESSORIES LE 503
011 SD ROLLER (DOUBLE)

ACCESSORIES LE 504
002 ESW ROLLER (SINGLE) 

ACCESSORIES LE 505
004 ESD ROLLER (SINGLE)

ACCESSORIES LE 506
004 ESD ROLLER (DOUBLE)

LE- LOW-END SERIES

Item Code Description QUANTITYPrice (RM)

ACCESSORIES LE 500 001 BUFFER 3/8 GREY 58gm±/100pcs±/packRM 6.50

ACCESSORIES LE 501 002 LOW SKID 1 1/2 WHITE 100pcs/packRM 6.50

ACCESSORIES LE 502 001 SD ROLLER (SINGLE) 200pcs/ctnRM 1.60

ACCESSORIES LE 503 001 SD ROLLER (DOUBLE) 100pcs/ctnRM 6.50

ACCESSORIES LE 504 002 ESW ROLLER (SINGLE) 600pcs/ctnRM 0.60

ACCESSORIES LE 505

ACCESSORIES LE 506

004 ESD ROLLER (SINGLE)

004 ESD ROLLER (DOUBLE)

200pcs/ctn

100pcs/ctn

RM 1.60

RM 6.50

14



Item Code Description QUANTITYPrice (RM)

ACCESSORIES LE 507 608 CASEMENT HANDLE (LEFT) - SILVER 60/box, 10 box/ctnRM 1.50

ACCESSORIES LE 508 608 CASEMENT HANDLE (RIGHT) - SILVER 60/box, 10 box/ctnRM 1.50

ACCESSORIES LE 509 510 CASEMENT B.HANDLE (LEFT) - BLACK 400/ctnRM 4.20

ACCESSORIES LE 510 510 CASEMENT B.HANDLE (LEFT) - WHITE 400/ctnRM 4.20

ACCESSORIES LE 511 510 CASEMENT B.HANDLE (RIGHT) - BLACK 400/ctnRM 4.20

ACCESSORIES LE 512 510 CASEMENT B.HANDLE (RIGHT) - WHITE 400/ctnRM 4.20

ACCESSORIES LE 513 350 CRESCENT FASTENER LOCK (LEFT) - SILVER 60/box, 10 box/ctnRM 1.50

ACCESSORIES LE 514 350 CRESCENT FASTENER LOCK (RIGHT) - SILVER 60/box, 10 box/ctnRM 1.50

ACCESSORIES LE 517 J6 SD HANDLE LOCK (SILVER) -RM 25.50

ACCESSORIES LE 518 A6 ESD HANDLE LOCK 25MM (SILVER) -RM 10.50

ACCESSORIES LE 519 A6 SD HANDLE LOCK 32MM (SILVER) -RM 12.50

15

BP Aluminium Extrusion Sdn. Bhd.

ACCESSORIES LE 508
608 CASEMENT HANDLE

(RIGHT) - SILVER 

ACCESSORIES LE 512
510 CASEMENT B.HANDLE

(RIGHT) - WHITE 

ACCESSORIES LE 514
350 CRESCENT FASTENER

LOCK (RIGHT) - SILVER 

LE- LOW-END SERIES

ACCESSORIES LE 517
J6 SD HANDLE LOCK

(SILVER)

ACCESSORIES LE 518
A6 ESD HANDLE LOCK 25MM

(SILVER)

ACCESSORIES LE 519
A6 SD HANDLE LOCK 32MM

(SILVER)



16

Item Code Description QUANTITYPrice (RM)

ACCESSORIES LE 515 430 STEEL FRICTION STAY (8 INCH) 25 pair/box, 5 box/ctnRM 3.80

ACCESSORIES LE 516 430 STEEL FRICTION STAY (12 INCH) 25 pair/box, 4 box/ctnRM 4.50

ACCESSORIES LE 516
430 STEEL FRICTION STAY

(12 INCH)

ACCESSORIES LE 515
430 STEEL FRICTION STAY

(8 INCH)

BP Aluminium Extrusion Sdn. Bhd.
LE- LOW-END SERIES



17

Item Code Description QUANTITYPrice (RM)

ACCESSORIES LE 522 PHIL FLAT HD. S.T.S #06 x 3/4 NIH 1000/BoxRM 24.05

ACCESSORIES LE 523 PHIL FLAT HD. S.T.S #08 x 1/2 NIH 1000/BoxRM 29.15

ACCESSORIES LE 524 PHIL FLAT HD. S.T.S #08 x 3/4 NIH 1000/BoxRM 37.90

ACCESSORIES LE 525 PHIL FLAT HD. S.T.S #08 x 1" NIH 1000/BoxRM 44.46

ACCESSORIES LE 526 PHIL FLAT HD. S.T.S #08 x 1-1/2 NIH 1000/BoxRM 61.22

ACCESSORIES LE 527 PHIL FLAT HD. S.T.S #08 x 2" NIH 500/BoxRM 78.70

ACCESSORIES LE 528 PHIL FLAT HD. S.T.S #08 x 2-1/2 NIH 500/BoxRM 120.25

ACCESSORIES LE 529 PHIL FLAT HD. S.T.S #08 x 3" NIH 500/BoxRM 145.75

ACCESSORIES LE 530 PHIL FLAT HD. S.T.S #10 x 1" NIH 1000/BoxRM 61.95

ACCESSORIES LE 531 PHIL FLAT HD. S.T.S #10 x  1-1 /4 NIH 1000/BoxRM 72.88

ACCESSORIES LE 532 S.D.S #08 x 1/2 DS412FH ZPH 1000/BoxRM 25.84

BP Aluminium Extrusion Sdn. Bhd.
LE- LOW-END SERIES

PHIL FLAT HD. S.T.S
S.D.S #08 x 1/2
DS412FH ZPH



18

Item Code Description QUANTITYPrice (RM)

ACCESSORIES LE 533 “PATTA” BRAND BLIND RIVET 1/8 x 1/4(NA) 1000/BoxRM 27.36

ACCESSORIES LE 534 “PATTA” BRAND BLIND RIVET 1/8 x 3/8 (NA) 1000/BoxRM 29.10

ACCESSORIES LE 535 “PATTA” BRAND BLIND RIVET 1/8 x 3/8 (MB) 1000/BoxRM 49.61

ACCESSORIES LE 536 “PATTA” BRAND BLIND RIVET 1/8 x 3/8 (PCW) 1000/BoxRM 49.61

ACCESSORIES LE 537 “PATTA” BRAND BLIND RIVET 5/32 x 3/8 (NA) 1000/BoxRM 40.20

ACCESSORIES LE 538 “ABC” BRAND STEEL NAILS 2.0 x 20mm x 1/2kgs 1/2 kg/BoxRM 6.50

BP Aluminium Extrusion Sdn. Bhd.
LE- LOW-END SERIES

“PATTA” BRAND BLIND RIVET

“ABC” BRAND STEEL NAILS
2.0 x 20mm x 1/2kgs



19

BP Aluminium Extrusion Sdn. Bhd.
T - SLOT

ACCESSORIES TS 704
40D die cast Zinc Inside

Corner Connector

ACCESSORIES TS 709 
30C die cast Zinc E Inside

Corner Connector 

ACCESSORIES TS 700
Floor Mount Base Plate 3030

ACCESSORIES TS 701
Width 8A Standard T-Slot

Covers (2m / pcs)

ACCESSORIES TS 712
Threaded Insert M6*8

ACCESSORIES TS 702
End Caps (OB) OB3030A

ACCESSORIES TS 703
4 Hole Standard Transition

Inside Corner Bracket

ACCESSORIES TS 705
30L 3-Way Corner Bracket

(Include the screw)

ACCESSORIES TS 706
30 Steel Tee Joining Plate 

ACCESSORIES TS 707
90 Support Connector (a)

3030 & 3030

ACCESSORIES TS  708
30C die cast Zinc L Inside

Corner Connector 

ACCESSORIES TS 710 
Inside Corner Bracket

3030A-8

ACCESSORIES TS 711 
Inside Corner Bracket

3030E-8

ACCESSORIES TS 713
Threaded Insert M8*10

ACCESSORIES TS 714
Drop-in T-Studs 30-

M6*16(8T-30)

ACCESSORIES TS 715
Flange Nuts M6

ACCESSORIES TS 716
BHSCS M6*10

ACCESSORIES TS 717
Slide-In Economy T-Nuts

30B-M6

ACCESSORIES TS 718
Button Head Socket Screw

M6*16 

ACCESSORIES TS 719
Slide-In Economy T-Nuts

30A-M6-#A



20

BP Aluminium Extrusion Sdn. Bhd.
T - SLOT

Description Price (RM)

Floor Mount Base Plate 3030 RM 50.00

Width 8A Standard T-Slot Covers (2m / pcs) RM 3.00

End Caps (OB) OB3030A RM 0.65

4 Hole Standard Transition Inside Corner Bracket RM 5.00

40D die cast Zinc Inside Corner Connector RM 3.50

30L 3-Way Corner Bracket (Include the screw) RM 9.00

30 Steel Tee Joining Plate RM 7.00

90 Support Connector (a) 3030 & 3030 RM 5.50

30C die cast Zinc L Inside Corner Connector RM 3.70

30C die cast Zinc E Inside Corner Connector RM 3.70

Inside Corner Bracket 3030A-8 RM 1.70

Inside Corner Bracket 3030E-8 RM 1.90

Threaded Insert M6*8 RM 0.50

Threaded Insert M8*10 RM 0.70

Drop-in T-Studs 30-M6*16(8T-30) RM 0.60

Flange Nuts M6 RM 0.40

BHSCS M6*10 RM 0.85

Slide-In Economy T-Nuts 30B-M6 RM 0.70

Button Head Socket Screw M6*16 RM 0.70

Item Code

ACCESSORIES TS 700

ACCESSORIES TS 701

ACCESSORIES TS 702

ACCESSORIES TS 703

ACCESSORIES TS 704

ACCESSORIES TS 705

ACCESSORIES TS 706

ACCESSORIES TS 707

ACCESSORIES TS 708

ACCESSORIES TS 709

ACCESSORIES TS 710

ACCESSORIES TS 711

ACCESSORIES TS 712

ACCESSORIES TS 713

ACCESSORIES TS 714

ACCESSORIES TS 715

ACCESSORIES TS 716

ACCESSORIES TS 717

ACCESSORIES TS 718

ACCESSORIES TS 719 Slide-In Economy T-Nuts 30A-M6-#A RM 0.70



21

Price (RM)

RM 143.00

RM 133.00

RM 127.00

Gasket Code

GPY55

ZID5-5

ZC50T1

Gasket Length

153 M

153 M

153M

Gasket Specs

Thermoplastic Vulcanizates (TPVs)

Thermoplastic Vulcanizates (TPVs)

Thermoplastic Vulcanizates (TPVs)

Glass Thickness

Not Relevant 

Not Relevant 

Not Relevant 

Used For

BPFD - FOLDING DOOR 

BPFD - FOLDING DOOR 

BPFD - FOLDING DOOR 

BP Aluminium Extrusion Sdn. Bhd.
RUBBER GASKET

ZID5-5

ZC50T1

GPY55



22

Price (RM)

RM 65.00

RM 124.00

RM 149.00

RM 71.00

RM 86.00

Gasket Code

MZC50/6880S

MSK98

MSK108

MSK75

M 2040

Gasket Length

153M

153M

153M

153M

153M

Gasket Specs

Vinyl Rubber (PVC)

Vinyl Rubber (PVC)

Vinyl Rubber (PVC)

Vinyl Rubber (PVC)

Vinyl Rubber (PVC)

Glass Thickness

Not Relevant 

6mm

5mm

5mm

5mm & 6mm

Used For

MCW - CASEMENT WINDOW

SF - SHOPFRONT

SF - SHOPFRONT

CW - CASEMENT WINDOW

ESW - SLIDING WINDOW

BP Aluminium Extrusion Sdn. Bhd.
RUBBER GASKET

MSK75

MSK108MSK98MZC50/6880S

M 2040


